@) 3 6/100 + @) s$176.27 (B> .012 x 21 = (40 4)80323  Gr 4 p.30

82 4,100 + 93.48
10 3/10 =
(:;) wWwhat is the greatest common factor of 18 and 247

Kinds of Pets

Birds
Gerbils
What is the total of
= Rabbits
birds, rabbits, = =
Cats == 4
and dogs *?
Dogs -
Fish i
6 1L 2 3 4 5 &€ 7 8 9§ 10
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(@) rind sum: @) rind difference: (30 1/2 of  (4.) (480%60) =
6.4, 9.74, 3.56 and 0.8 - 10 is? (240-%120) =
:976, 0.8

(j:) What are six factors of 20?
Gi} Favorite Flowers of 4th Graders. Each 8@ symbol represents 3 votes.
Roses d@@ ———————— How MANY MORE. VOTEYL
Daffodils @é’s@@ ) For L/§7%C5 THRN
Tulips @ EOSES 2
Violets @@
| Lilacs @ @@ @

Daisies Géé
DAY 154

@) 752 + 453 + .6 = @) 11112 () .14 x 4= (1) 8)59.206

5712

(:) Find the area of the shaded part:

Which table |Roses 2] ' |Roses 6 |
shows the |Daffodils 3] |Daffodils 9 |
information | Tulips 1| | Tulips 3
from yesterday’s |Violets 2| : |Violets 6 |
DARES set? |Lilacs 4] |Lilacs 121
' |Daisies 1] |Daisies 31
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